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(1) Each question carries equal marks.

[Max. Marks : 70

(2) Please mention the question no. in column which you answer.

Explain difference between Investment and Speculation.
OR
State classification of Derivative Instruments.
Answer any two :
(1) Explain four functions of Stock Exchange.
(2)  What is Commercial Paper ?

(3)  State four regulatory functions of SEBI.
(4) State four characteristics of Treasury Bills.
Answer any two :
(1) State stages of Investment process.
(2) What is Money Market ?

(3)  Write any two names of money market fixed interest instruments.

The expected return on a security under three economic scenario with the
robability assignments are as under :

Scenario Probability | Returns (in %)
Boom 0.1 30%
Normal 0.7 20%
Depression 0.2 10%

Calculate the expected return i.e. E(Rg).

OR

Following details related to GGM Ltd.
(1)  Cost of capital according to expected return is 16%.

(i) Current years dividend X 8.
(ii1)) Growth rate 10%

Calculate the current market price of the equity share under constant dividend
growth model (i.e. Py)

P.T.O.



(b) Answer any two : 4
(1) What is Efficient Market Hypothesis ?
(2) What are Zero Coupon Bonds ?
(3) How is valuation and returns on bonds done ?

(4)  From the following information find out expected return rate on share as per
CAPM :
(i)  Risk free return 6%
(i) Market average return 15%
(iii) Beta of the security (Bg) 2.4

(c) Define any two : 3
(1) Random Walk Theory
(2) Hedge Ratio
(3) Industry Analysis

3. (a) Explain Markowitz’s traditional portfolio theory model. 7
OR

(a) Following details relate to the security price and the NSE market index between
the base period and the current period are as under :

Period Security Price | NSE Market Index
Base 3 400 5000
Current % 500 5500

Assuming that the risk free rate of return is 6.5% and the average return on
market index 1s 16.5%

(i)  Calculate the beta of the security (B) under the ‘rise over run’ method.

(1)) Calculate expected return on the security on the basis of beta value
ascertained in above (i)
(b) Describe any two : 4
(1)  Sharpe’s Single Index Model
(2) Portfolio Diversification
(3)  Securities Market Reports
(4)  Write two disadvantages of mutual fund portfolio

(c) Answer any two : 3
(1)  Why is construction of optimal portfolio done ?
(2) What is systematic risk and unsystematic risk ?

(3) State formula to ascertain expected return on security under Sharpe’s Single
Index Model.

4. (a) The expected return on a security under three market conditions are 50%, 30%
and 10% with the respective probability assignment of 0.2, 0.7 and 0.1. Find out
the expected return on the security. 7
OR
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Write short note on Arbitrage Pricing Theory (APT).

Answer any two : 4
(1) Capital Market Line (CML)

(2)  Criticism of CAPM

(3) Efficient Frontiers

(4) In which theory portfolio management takes into account the multiple
factors affecting security prices.

Answer any two : 3
(1)  What is Security Market Line (SML) ?

(2)  Assumptions of CAPM.

(3) Who introduced Assets Pricing Theory Model ?

5. In the following sub-questions more than one answers (options) are given, from that

select the correct answer (option) (if necessary show calculations) (one mark each). 14
(1)  One of the following is not the monetary instrument of money market.

(a) Overdraft (b) Treasury Bill

(c) Commercial Paper (d) Certificate of Deposits

2

3)

“4)

(&)

(6)
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From the following in which option money market securities are included ?

(a) Treasury Bill, Commercial Bill, Commercial Paper, Certificate of Deposits.
(b) Equity Shares, Preference Shares, Treasury Bill, Bonds

(c) Treasury Bill, Bonds, Equity Shares, Preference Shares.

(d) Treasury Bills, Bonds, Equity Shares, Debentures

The stock exchange provides one of the following facility :

(a) It works as merchant banker for the issue of securities in a primary market.
(b) It provides a trading platform for dealing in outstanding listed securities.
(c) It provides funds against the pledge of shares and bonds put as security.
(d) None of the above

The average returns of a share providing returns for three consecutive years as
20%, —10%, 17% is one of the following :

(a) 15.67% (b) 9%

() 15% d 17%

The market of securities does not provide the market for one of the following :
(a) Equity shares (b) Preference shares

(c) Insurance policies (d) Warrants

The efficient market analysis is also known as one of the following :
(a) Fundamental Analysis (b) Rise over run theory
(c) Random walk theory (d) None of these
7 P.T.O.



(7)  Under the high inflation rate economy, one of the following bond investment is
preferable to investor :
(a) Zero coupon bond (b) Convertible bond
(c) Bearer bond (d) Floating rate bond

(8) In three conditions one of the particular share return is 50%, 30% and 10%
respectively and probability is 1 : 7 : 2, then what will be the expected rate of
return from the following ?

(@ 30% (b)) 27%
() 29.5% (d) 28%

(9) One of the following statement is true about the Capital Market Line (CML) :
(a) Itis a positive straight line which rises from left to right.
(b) Itis a negative line which falls right to left.
(c) Itis a curvilinear line.
(d) It defines the feasible region of efficient frontier.

(10) One of the following theories of the portfolio management takes into account the
multiple factors affecting the security prices :
(a) Arbitrage Pricing Theory (APT)
(b) Capital Asset Pricing Model (CAPM)
(c) Markowitz Theory
(d) Black-Scholes Model

(11) One of the following is not a popular classification of mutual funds :
(a) Growth fund (b) Chit fund
(c) Balanced fund (d) Income fund

(12) Technical Analysis is based on one of the following :
(a) The economic environment shows growth trend
(b) The past behaviour of the equity share repeat
(c) The investors always make rational judgement based on information.
(d) The equity share price depends on several variables.
(13) The modern capital market theory was developed by one of the following

contributors :
(a) Markowitz (b) Stephen Ross
(c) William Sharpe (d) Eugene Fama

(14) Fundamental objective of portfolio management is
(a) To decrease earning and to increase risk
(b) To increase in capital
(c) To increase earning and to decrease risk
(d) To reduce income tax liabilities
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